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X2

Gujarat

Q.7 R geaea $ uge Afgen aHE I geaw fRw ey ¥ weateud
off?
To which dynasty did the first woman ruler of the Delhi Sultanate Razia Sultan belong?

Question ID : 9864492097
Status : Answered

Chosen Option : 4
Ans Pl

L =TT
Slave Dynasty
st T=taer

X 2
Khilji Dynasty

| el Treer
Lodhi Dynasty
T A

< 4
Mughal Dynasty

Q.8 ing — 2 2
I sind = coso &, 31X 0 = g T 2sin%8 — 3cos?0 W AT fHaeT &7 QuestioniD.: 9864494827

If sinf = cosf, and 8 is acute, the the value of 2sin®8 — 3cos?8 is: Status : Not Answered
Ans ?( 1.-1 Chosen Option : --

(2.-%

<31
1

X*E

Q.9 e FAaT oy & A Rl T F SR v Regde SUET S T 9e &Y 4 ar )
Tl 3 Taegeer I - Question ID : 9864494915

In a parallel circuit, if one electrical appliance stops working due to some defect, then all Status : Answered
the other appliances: Chosen Option : 3

Ans 1 =T el &THAT ¥ S Fd el
will keep working half of what they did

FRT TG HE
will not work

«3wwﬂmmlﬁﬂ
'willworknormally
4a?ﬁmﬁ$ﬁaﬂﬁ1%ﬂ1

will keep working double of what they did

< 2

x

Q.10 31 et sgm & el Tas ST §, & ST T fPufaw st fEw &
afEfdd & A &
‘When a bullet is fired from a gun, its potential energy is converted into:

Ans I ¥F F=ir

Question ID : 9864493602
Status : Answered

Chosen Option :2

F !
mechanical energy

| et Fir
kinetic energy

x FSHT F=A
heat energy

v
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X4
chemical energy
Q.11 Ao T T 9T giafee
5% i F N Rw e w1 wE e 1 Question ID : 9864495074
INSTITUR3I
Status : Answered

Select the option that depicts the correct mirror image for the given term. Chosen Option : 4
INSTITUR3I

Ans

v i IM2LTLNE3I
X2 1EAUTIT2MI

X IEYNLTILSNI
X4 IN2LTLNE3I

Q.12 v weT # v @ & AHEa aoAe 28° afeuaw §1 ol deEn,
FITeEN, gUER AR AR & stae amEer 27.5° afeaaw ¥ s e,
srFaY, orfearT 3t R = sitoe auEE 200 ARwww § & meEw F R Status : Not Answered
ao?v‘rm a7 7 Chosen Option : --

Question ID : 9864494888

Mean temperature of a city for a week is 28°C. If the mean temperature for Monday,
Tuesday, Wednesday and Thursday is 27.5°C and the mean temperature for Thursday,
Friday. Saturday and Sunday is 29°C, the temperature recorded for Thursday is

Ans 30° AfemaT
v &)

30°C
29° afemaw
29°C
31° afcwaw
31°C
28° dfegad
28°C

< 2
K3
X4

Q.13 ¥ T &R Y & gad AT
3W A F TS F A T A =T F aH & Question ID : 9864495033
Choose the word which is least like the other words in the group? Status : Answered
Ans ;ﬂgr Chosen Option : 2

r 0
Broad

TS

' Supreme
feremer

' Large

EE)
Xa

v

X3

Big

Q.14 R Rerest # & J0TRE SEe - [UPAC ATF - BIHART A1 & Tad 4 94|

Question ID : 9864494962
Select the INCORRECT set of Molecular Formula — IUPAC Name — Common Name .
from the following options. Status : Answered

Ans c HSOH L ﬁ;ﬁfﬂ_ _ ﬁ ﬂ ) Chosen Option : 4

K1
C H;OH — Methanol — Methyl Alcohol

"2 C,HgOH — WYaATel— WIS el Toehigiel

C;HgOH — Propanol — Propyl Alcohol
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C,H;OH — Ethanol — Ethyl Alcohol
x4 C,H,OH — e=AeT— SYETZe Teahlgiel
C4H,OH — Butanol — Butyl Alcohol

Q.15 ofg X Fr T & 7 vF TEG F OIHF T 14 Hew ol dE EoAT 5w

mmﬁgmqgaﬁrﬁ AT oRET |
(a = 98 FrEruir aei aee)

If the initial velocity of an object thrown upwards is 14 m/s, then the time taken for the
object to reach its highest point will be .

(a=98m/s?)

Question ID : 9864493439
Status : Answered
Chosen Option : 3

Q.16 fogft Tt w7 8% hr e &x 9T 1 a9 3k 2 A & @uReT == T

Ans

491.68 § o Ferae fhaeT gremr?

‘What sum will yield T 491.68 as simple interest at 8% per annum for 1 year and 2

months?

X< 1. T 4364
X 234906
< 334758
v+ T5268

Question ID : 9864494816
Status : Answered
Chosen Option :1

Q.17

Ans

TG IR TT A A T R R T T S AT A § A5
fme & & sg=ar ¥ Ry 9 3 freeier v war & e ol w@er e
77 T 4 e S 95T S B 56 AR e & a9 A gl
foreretr 82

Jai travels from his house to school at a speed of 10 km/hr and reaches late by 5 minutes.
If he increases his speed by 3 km/hr, he will reach the school 4 minutes early. What is the
distance between his house and the school?

x| 2 Taeie
2 km

6.5 RroiaieT
6.5 km

2.5 Rl
2.5km

4.8 R
4.8 km

V2

< 3.

X4

Question ID : 9864494840
Status : Not Answered
Chosen Option : --

Question ID : 9864495156
Status : Answered
Chosen Option :2




Ans
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OHOC

B D

Select the option that will come next in the following figure series.

@[> ]®
@1@&

Q.19

C ahar g arer fRET sraeer a9 & wieew g F W @ Bl R &
sRfte & weed & Peafafee & @ #ia @1 Fva oy dar 32

With a Concave mirror (Centre of curvature), when an object is placed at the Focus (F),
which of the following applies for the image?

r 0
wfafers arrafas, 3oer, 3] & W&R ¥ 9gd oier 3R F 9 &=
Real, inverted, highly diminished image at F

W2
fafers arafawm, oo, a5g & H&R & §ga 987 AR aFT W q@T
Real, inverted, highly enlarged image at infinity

5 3
wfafees aeafas, 3oer, 989G & 3R F s AR C | a4

Real, inverted image of the same size at C

X 4

sfafies aeafds, 3eer, a8 & FHR @ o 3R C 3 F & mex aeem
Real, inverted, diminished image between C and F

Question ID : 9864494693
Status : Answered
Chosen Option :1

Q.20

Question ID : 9864494717
Status : Not Answered
Chosen Option : --
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i | Fued gaTT g

#r X & a¥ 2000 # frgar AtT fmar?

wYe:
1. 4 X & 2003 # % 7,000 T v, NfF 30F g@mrr af 2000 # #a
afr & 10% e 2
2. sfwdr v, S A X 1 ucl & F A X g@rr sfea afer @ smen afda
fram & 3 38l 2000 # o fAET & T 9,000 AT fRT

Consider the given question and decide which of the following statements is sufficient
to answer the question.

How much did Mr. X earn in the year 2000?

Statements:
1. Mr. X earned ¥ 7,000 in 2003, which is 10% more than what he earned in 2000.
2. Ms. Y. Mr. X's wife. earned half of the amount Mr. X earned. and they together
earned ¥ 9,000 in 2000.

Ans x1_
U9l & 3cal ¢of & fow 1 30 2 gt gaica g

Both 1 and 2 are sufficient to answer the question.

W2
TR T 3cadl & & foI@ Ir ar 1 a1 2 & 93T 2|

Either 1 or 2 is sufficient to answer the question.

< 3.
e 1 & 9T &, SETH 3 2 MR T 3o} &7 & foT gateg AT B

1 alone is sufficient while 2 alone is not sufficient to answer the question.

X 4
3hel 2 & T &, FafH el 1 W #7 3cdd & & folU 9ATeT FET

2 alone is sufficient while 1 alone is not sufficient to answer the question.

Q21 37 R &1 79 Y S FATSTST THE H T A6 &

@[> @

A B C D

Select the figure that does NOT belong in the following group.

OllLS (R

A B C D
Ans x1_B
X2C
v D
XA

Question ID : 9864495102
Status : Answered
Chosen Option : 3

Q22 faf@a # & Fi9 @ Rwsa @R 9= 39 & W &2
‘Which of the following can reproduce by fragmentation?

Ans TSRO

o
Spirogyra
AT (T

Planaria

<2

Question ID : 9864493537
Status : Answered
Chosen Option : 3
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Q23 7 A
# W P T AT FIRT I FIiad He 8? Question ID : 9864495006
Which of the following enzymes is secreted by the pancreas? Status : Not Answered

Ch Option : --
Ans x1 aa%_\q. (LEICtESE} osen Option
Lactase

V2 fefa= (Trypsin)
Trypsin
, 'ﬁ#ﬂ (Sucrase)

Sucrase

, ATeesT (Maltase)
Maltase

x

x

Q.24 Fra -
60 I He & o TEAT FAT B Question ID : 9864494918

How many moles are present in 60 g of He? SIS FATE L
Chosen Option :1
Ans 12 At

F !

12 moles

X 2 10 e

10 moles

xszsmﬁr

25 moles
15 Hrer

15 moles

v

.25 . T
OB =37 & i & F&T 12 § Ui T @7 Question ID : 9864492764
Which of the numbers given below is exactly divisible by 12? Sl s

Chosen Option : 2
Ans X 1. 28544

X 2.14632
V'3 57816
X 443688

Q.26 12% =18 2T & 3 Tuf Fr Aremor s 24,140 § | FH@ T W 8% F
T 2y Iut FT TFIAr s =T 2em 2

The simple interest on a certain sum at 12% per annum for 3 years is T 4,140. What is the
compound interest on the same sum at 8% for two years? Chosen Option : --

Question ID : 9864494596
Status : Not Answered

Ans 1 % 1,840
X 2% 1,886.50
X 3% 2,01240
v+ % 1,913.60

Q.27
Question ID : 9864495136

Status : Answered
Chosen Option :2
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(2,14,16), ( 6,30,36), (5,35,40), (3,21,24)
Select the set that does NOT belong in the following group of sets.
(2,14,16), ( 6,30,36), (5,35,40), (3,21,24)
Ans X 1.(2,14,16)
Vv 2 (6,30,36)
X 3.(5,35,40)
X 4.(3,21,24)

Q28 eyt o snferar & & TsdTar Far 22
What is the nationality of Indian actress Alia Bhatt?
Ans ﬁﬁ'

r 0
French

Malaysian
Vs farfeer
British
x 4, A

German

X2

Question ID : 9864492202
Status : Answered
Chosen Option : 2

Q.29 v+ =uffd [Mg 'O’ @ Amr UF e 8. Meg A dga & v 20 freleier ud e
&1 3 ekl §, aifget Hzar § 3R g B a% ggdel & fow 10 Frelefier 1 amr oo
T &, aifeat Hgan & AR filg 'O o wgEe ¥ e 9 freliier S amr awar §, afee
g5 g D' F Teet & fore ag 5 freiwey &1 AT S €, 3@ 48 3R ge fag
'E' A T & v 12 Reeeiiex # amr d e ¢ iR R o #sa gu g F
o ugaa & [0 6 Frellelicr B A Har 31
FHE eI 3 il gt & & wad wa ol @ §?
A man starts from point ‘O’, travels 20 km towards East to reach point ‘A’, turns right and
travels 10 km to reach point ‘B°, turns right and travels 9 km to reach point ‘C’, turns right
and travels 5 km to reach point ‘D’, turns left and travels 12 km to reach point ‘E’ and

then turns right and travels 6 km to reach point ‘F”.
‘What is the shortest distance between his initial and final points?

Ans X113
v 2.2
X 3420
X 4 4145

Question ID : 9864495155
Status : Not Answered
Chosen Option : --

Q30 540 o e H FUREAT Aidl HT FEAT e 87
In 540 gram of glucose, the number of moles present are:
Ans x 1.1
v23
X332
X4 4

Question ID : 9864494618
Status : Not Answered
Chosen Option : --

Q.31

Question ID : 9864495038
Status : Answered
Chosen Option : 2
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A&|Oe

A B C D
Select the figure that does NOT belong in the following group.

A& de
A B C D
Ans X1B
X 2D
v
XA

Q.32 v == #, & QUANTIZING %' TNAUQGNIZI forar <ier § o S &g & )
Question ID : 9864494190
EXORCIZING & &8 forgr smeem 2

Ifin a certain code, QUANTIZING is written as TNAUQGNIZI, then how will gty Aigered
EXORCIZING be written as in the same code? Chosen Option : 3

Ans - X 1. CROXEGNIIZI
# 2. CROXGENIZI
v 3 CROXEGNIZI
# 4 CROXEGNIZII

Q33 Trmfaf@a & & sigar & v #ia @1 a9 w7 78 87 Question ID : 9864494985

Which of the following statements is NOT true of Meiosis? Status : Answered
Ans ‘, 1. Chosen Option : 4

NIV F oRuTEEEEd, 9RO Freit F qurgst Hr wEw ar e @ e g

As a consequence of Meiosis, the number of chromosomes is doubled in the resulting

| HTUREOT &Y =oil A g 2
Meiosis takes place in two phases.

3.
m?;wa;m o @it & e oRome Sl F B o I ¥
During Meiosis, the genes of the parent cells are mixed in the resulting cells.
X 4
ST oY (3ets) F 3ngIOT gIES F 3oes F A @
Meiosis takes place in gonads for production of gametes.

cells.

x

Q.34 w= wEfha R 5 e & 500 #ey 1 gt a7 =ar ¥ | 7y wsfee 79

it =Ty TET & o 7 Y g & R f@(ﬁ eeT #) T Question ID : 9864494595

e Status : Answered
A cyclist covers 500 m in 5 minutes. What distance (in km) would the cyclist cover in half Chosen Option : 2
an hour if he travels at the same speed?

Ans X 1.3000

v23
#< 330
X46

Q.35 57 aggs # 0.23 HEHET AR e 472 o8, TF gAY & I W A i )
& = T T o & Ty & e T Question ID : 9864494831

‘When 472 pieces of plywood, each 0.23 cm thick, are piled on top of each other, what SIS YA
would be the height of the pile in metre? Chosen Option : 3
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~ 2.10.856
# 3.108.56
v 41,0856

Q36 EyfEafrEs 2
ER F1 FUT T ;A eI & 2 Question ID : 9864494688

e Status : Answered
A HEI F AT FAST GART FA HA & T AT I o7 Chosen Option : 1

B. 0TS FN& & dEH gl
C. AT 3T H =0 IfEt & T@l & 37w g
Which of the following statements is/are true or false?

Statements:
A. Pea plant was chosen by Mendel to work upon
B. Chromosomes are the carrier of factor
C. Forelimb of human the organ analogous to the wings of birds

Ans v el HUd A HT B T &, C T g
Only statement A and B are true, C is false

xzmmcaﬁr%, B 3t A T ¥
Only statement C is true, B and A are false

X 3.
Faer FuT B T &, C 3k A g F

Only statement B is true, C and A are false

X 4
ST FUT ATE Y, B 3t C g &

Only statement A is true, B and C are false

Q.37

q Question ID : 9864494799
| ; l Status : Answered

Chosen Option : 2

A B c D
38 T & T #t S TEg @ wEtT a4

Select the figure that does not belong to the group.

L0005

A B C D
Ans .,1_5
X2C
X 3D
XA

Q.38 enfeam sfferass 1 Ul SR 81T &, 3 § 3d & uiafemm & @@
AR Fer F AT W § i@ F ¥ 39 wfcaw sifFaEs S aaw A
T W == 77

Oxides of metals are basic in nature, that is, they combine with acids to form salt and

Question ID : 9864494700
Status : Answered
Chosen Option : 2

water. Select the odd metal oxide from the following ones.

Ans x 1. MgO



v 2 Al 0,4
# 3.CaO
< 4 Na,O
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Q.39 7fy 1 w=H 4 BaE F 600 =yt 7o F WY 20 A H gl 77 = §,
& 5% g e & afT # A e

If a boy covers a distance of 20 metre in 4 minutes with a force of 600 N, then the power
consumed by the boy is:

Ans X1 100 are
100 W

V2 50 a1
50W

N 80 I
30 W

, 25 @
5W

Question ID : 9864494612
Status : Answered
Chosen Option : 2

Q.40 mrEez feEw § AT A9 & @5% & AW 940, S vk g § mew
HH Y F AEGH o e Aewr AAFY, e § gt 3 9o
IorEE FETEE 3T FEE gifher S wigsmait @ g fmm

Name the Indian-origin boy in United Kingdom who became the youngest applicant in a
decade to achieve the highest score in the Mensa IQ test, beating geniuses such as Albert
Einstein and Stephen Hawking.

Ans Hﬁ-m; 3m
Ko
Tanishq Abraham

v, T
Mehul Garg
X3 3pd AHdTel
Akrit JTaswal
, oA aferyr s

p
M.Tenith Adithyaa

Question ID : 9864494393
Status : Answered
Chosen Option : 2

Q4 37 forx & T X ST FFATIAT 9E T 3T A 8

28N | 3

A B C D
Select the figure that does NOT belong in the following group.

H&NC | 3

A B C D

Ans x1-B
v
X3D
Ka A

Question ID : 9864495125
Status : Answered
Chosen Option : 2

Q.42

Question ID : 9864494519
Status : Not Answered




Ans

A 3T B v @y 12 fedAt & w0 @ qu wm\ééﬁg\%ppﬁalert'irlhosen Option : -

foett & FT THAT & | T TF TT FH A GF A § AT A FH F W
TR TI0RTEIH O & ¥ | A 3k B 7 v @y e fraw R
FEr T

A and B can complete a piece of task together in 12 days while A alone can do it in 15
days. They start working together but A leaves 10 days before the completion of the task.
For how many days did A and B work together?

X109
X211
X338
V410

Q.43

Ans

T FaT F 35 OE & T &0 F P aweT 440.75 Rreina o Ay v
TIF a6l UF THel 997 ol g, al Teieh Thel 297 & 30d a== vt grem?

The total weight of school bags of 35 students of a class was 449.75 kg. What is the
average weight of each school bag if each student carried only one school bag?

x 12.95 Tehellams
12.95kg

12.84 freiams
K2
12.84 kg

12.85 fFraams
W 3
12.85 kg

12.75 TSeEmH
< 4
12.75 kg

Question ID : 9864494591
Status : Answered
Chosen Option : 3

Q.44

Ans

0.16 3T 0.64 ¥ &= FeAwI fhdeT &7

The mean proportional between 0.16 and 0.64 is:
< 1.0.27
< 2048
V3032
#4040

Question ID : 9864494875
Status : Answered
Chosen Option : 4

Q.45

Ans

5JA8KEG40OC1659NLEPUF
FIT &1 TS AT F ¢ F &0, FH H acor 9T 0 Sst v e Rt ¥
forest ager s Ak eud dEw ¥ 2

5JABK6G40C1659NLEPUF
In the above series from left to right without changing the order the number of pairs of
terms such that 1% is alphabet and 2™ is a number are:

X 11
xX23
V4
X2

Question ID : 9864494803
Status : Answered
Chosen Option : 3

Q.46

Question ID : 9864495041
Status : Answered
Chosen Option : 3




VI

faw =orw R #, TR 39 ARl # gfar & e 90 FR E; 99 39 S
g3t & Tt @ =X §; 3T e 34 sl @ eeiar ¥ e o W §
31 ot Y Fo TEa e ¥, SwE aw At F ¥ S o 9w ¥ o
& W, FT o1 [=T?

1

i}
m| IV
VI v viI

In the given diagram, the triangle represents the set of people who possess a car; the
square represents the set of people who possess a house; and the circle represents the set
of people who possess gold. The total number of people who possess only one among
the three, that is, house, car or gold, is:

Ans o 1 |+
X 2 [I+IV+V
W 3 +VIVI
24 V=V

www.govtjobsalert.in

Q.47 94T FUE @ g & F o Sewdr @iy geive frdew B Sl
o1 TTeT Ugel AN =T Hidd @7 32

‘Which is the first Indian state to ratify the GST Constitution Amendment Bill, recently
passed by the Parliament of India?

Ans Hare g
r 0
Meghalaya
X o ST ST

Amnachal Pradesh

X 4
West Bengal

Question ID : 9864494437
Status : Answered
Chosen Option : 3

Q.48 wzhr g ufafear & w7 & cuaflud 3 aigst & 57 9o & A S

Common metals arranged in order of their decreasing reactivity is known as:

Ans gfafsharcasar (Reactivity)

Ko
Reactivity

| Tafaty @

Activity series

galgehced (Conductivity)
3.

Conductivity

X 4
SelgreiaTsiess 399a+ (Electrolytic reduction)
Electrolytic reduction

v

Question ID : 9864493051
Status : Answered
Chosen Option : 4

Q.49

Question ID : 9864494729
Status : Answered




X #r T R ¥ 1681 & 3T Faw A g 40%99%“1’9@ alert'ln(;hosen Option : 4

Fdr I &

X’s rank is 15th from the top, and in total, there were 40 students in the class, then Xs
rank from the bottom in the class is:

ans X 125
X224
X327
v 26

Q.50 Foles: TFR H g & § F=51T TR & 9187 3497 e & G @

& g Rege wifaa A=t & @le & B Al o g8 2 Question ID : 9864494418

. . Status : Not Answered
The Karnataka government has recently received the approval for purchase of electric

vehicles from the Department of Heavy Industries of the Union Government under which Chosen Option : --
scheme?

Ans - 3 E@IIT gfegesss
NAME India subsidised
x5, T sfzar ofemesss
Rural India subsidised
x5 ¥ sfaar afeazs=s
Pan India subsidised
v %7 2T aftase==

FAME India subsidised

O3 1 F ayradt carHee & Fu Rar FEr & Question ID : 9864492920

3200
Status : Answered

1 . . . . ’
300 written as a recurring decimal is: Chosen Option :2

Ans X 1.0.0003
v 2.0.003
#3.0.03
< 40.3

Q.52 9T ¥ 12 3FEy 2017 F 78 e F |Gl B 9RE # ¥ ol &9 & i
- . Question ID : 9864494389
Traet TOT 95 & WY 9SS diferRl # 9UH T 9od ar?
India topped the medals tally with how many gold medals in the Track Asia Cup at the IGI Status : Answered
Sports Complex in New Delhi on 12t October 20172 Chosen Option :1

Ans «1_7
X22
<39
X146

Q.53 Roafaf@ & & fraer suaeT e SO & & s 32
Which of the following is used in the preparation of vinegar?

Question ID : 9864493334
Status : Answered

Ans Chosen Option : 4
x| E¥ieT o

FEthanoic acid



. TR o

Acetic acid

www.govtjobsalert.in

QM s T F T N AT AT Rt R A T T A T a@ T &
AT

UYL
ilVE

Select the option that will correctly fit in the blank space in the following figure.

UYL

Ans

o 4

'

Question ID : 9864495014
Status : Answered
Chosen Option : 4

Q.55 v T07 ¥ TATARATF (HEERT) F g TE 208 ¥ afY sEF AfEE
# 188 =g §, O SHHT AN HEAT = §7?

The mass number of an isotope of an element is 298. If its nucleus has 188 neutrons, what

is its atomic number?

Ans 5 1.188.0
v 21100
& 3.208.0
X 4 4880

Question ID : 9864494656
Status : Answered
Chosen Option : 3

Q.56 fArfafEd wea 9& 3N a7 #{ T {u 7w Fuat & & Sl @1 F200 301 & & e
e #E1

T
TR PR, U, V, W iR X I A Al & v ey W gade #4, 9ds wh
37erT feol W 9edie m, oified a6 sl 7 a¢H W e & degia s

HUA:

1oal 1 oeal & % g § 3 X 3w Ba el e 8

2. U, 3 oall & e 7g1 & g; U 3RV & 9o & S P O 9699 T gl
Read the following question and decide which of the given statements is/are sufficient.

Question:
Four magicians, U, V, W and X, will perform at a theatre on four consecutive days, each
on a different day but not in the same order. On which day will W perform?

Statements:
1. Show starts on the 1st of Feb and X performs on the next day.
2. U doesn’t perform on the 3rd of Feb; one of them performs between U and V.

Ans x1_

Question ID : 9864495144
Status : Not Answered
Chosen Option : --
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1 alone is sufficient while 2 alone is not sufficient to answer the question.

W2

1 31 2 gt @ FAee garel # 3cat & & folv 9T §)

Both 1 and 2 together are sufficient to answer the question.
X 3
Y9l T 3ol &of & T AT ar 1 ar 2 gaea g

Either 1 or 2 is sufficient to answer the question.

X 4

3het 2 JAieq § STafeh Tarer 1 3cck o o felw 1 3kl TaiTed <181 81

2 alone is sufficient while 1 alone is not sufficient to answer the question.

Q.57 37 RFeT # 999 &1 = BE v fFy & Reg wu= & a8 e gem

?

Select the option that will correctly fit in the blank space in the given figure.

?
Ans
v )
-
[
[

Question ID : 9864494735
Status : Answered
Chosen Option :1

Q58 afy + AT 3w - - FIHT <, x W HT - Fwd - FaaT + F o
16 + 4 -3 + 8 x 6 T AT FI1 g7

If + means —, — means =, ¥ means <+ and + means +, then what will be the value of 16 +
4-3+8 %67

Question ID : 9864495089
Status : Not Answered
Chosen Option : --

Ans 4 F
v 2 16/3
X3 71/4
K46

Q.59 frg fferar & o 2017 & Far 7 [EHR ¥ TFATT foar amar or?
‘Which actor was honoured with the Kala Ratna Award in 20177

Ans
IATH WT
vwi. 2

Question ID : 9864492413
Status : Answered
Chosen Option : 1

Anupam Kher
X 2 STHhIA Gl
Irrfan Khan




HETT HHAN
< 3. =
Akshay Kumar

, U8 ¥ T
' Shah Rukh Khan

www.govtjobsalert.in

Q.60 v 1w a1 WEr A ge Tl o, B e @ Sl & e arfde w9

 FAFEOT FIT

T
Fo W AT B §, oo o, gl @S §) wh ol aw §, @ 9w A de
gl

a

[Ci-a s

1: g A=, A A

2:3@@,“@?}?'

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements:

Some lions are tigers; some tigers are elephants. All elephants are monkeys; all monkeys
are humans.

Conclusions:

1: Some humans are tigers.
2: Some monkeys are tigers.

x1ﬁrq;&1m23ﬁmmm%|

Either conclusion 1 or 2 follows.
| fashd 1 R 2 et et F E
Both conclusions 1 and 2 follow.

Faer frsy 2 3TTEIOT FHAT g
3.
Only conclusion 2 follows.

4mﬁw&1wm%l

Only conclusion | follows.

v

x

x

Question ID : 9864495126
Status : Answered
Chosen Option : 1

Q.61

Ans

T SOfa Fg ‘O @ e AT g e ¢ 3k Big A @ Tgee % w20
foreiiier 9 &1 3 =1 &, T a¢ 73 e & ok fig B 7% wgee &
fore 10 fareiiaftex <rerer ¥, 67 ar¢ 32 e ¥ 3l fig 'C @ o & Re
9 freiretie e &, R aTe 77 wman ¥ ok Rig D o e ¥ e s
fraiier =@ &, R a9 g3 9 § ok g B aw wges & w12
freiateT =rerer & iR O a7 e ¢ ol B P 7w e & BT e
freiates =T ¥

fig A i Rig D' & @ @ @ 9 g Reed B

A man starts from point ‘O’, travels 20 km towards East to reach point ‘A’, turns right and
travels 10 km to reach point ‘B”, turns right and travels 9 km to reach point ‘C”, turns right
and travels 5 km to reach point ‘D’, turns left and travels 12 km to reach point ‘E’ and

then turns right and travels 6 km to reach point ‘F*.
‘What is the shortest distance between point ‘A’ and point ‘D*?

(1.%
X 2. 517
<313

2(4.@

Question ID : 9864495036
Status : Not Answered
Chosen Option : --

Q62 34 85 3T 102 = &.@. @l

Ans

Find the LCM of 34, 85 and 102.

v 1510
< 2.1020

Question ID : 9864494892
Status : Answered
Chosen Option :1




< 3680
< 4340

www.govtjobsalert.in

Q63 gfE& cosec©+cot®=2 B AT cosec O =72

If cosec 6+ cot © =2, then cosec6="7
Ans x 1.1
X215
<32
v 4125

Question ID : 9864492737
Status : Not Answered
Chosen Option : --

Q.64 w# Tt &1 WK, Bus & WA 9% ao FARCT Tgels & U &
5/6 5T &1 PRl 3 ARG Sgele T HgwT FEAl H FAd Rhder
gem?

The base of a triangle is five-sixth of the base of a parallelogram having the same area as
that of the triangle. The ratio of the corresponding heights of the triangle to the
parallelogram will be:

Ans X' 1.6 :5
X25:3
v:12:5
X45:12

Question ID : 9864494565
Status : Not Answered
Chosen Option : --

Q.65 forafofEm & & #i7 W wg=a U7 3 1 & @ o= &7
‘Which of the following is an island state of the USA?

Ans
X1_a13?r@trm5

Bali Islands
), & ol
Hawaii Islands
, FORE o wagg
Santorini Islands

, =i & v g
Fiji Islands

x

x

Question ID : 9864494500
Status : Not Answered
Chosen Option : --

Q.66 Fewrat # fiw o wEfT St & FUR W FHiRue WE & 99 w5

27 : 65 1 64 :

Select the missing number based on the given related pair of numbers.

27:65:64:
Ans  of 1.126
X 2125
X 3124
X 4127

Question ID : 9864494748
Status : Not Answered
Chosen Option : --

Q.67 g w9 & Ifcr F4 # T 10 kg FA HT T T8 W 10 N &
T T A, A e & S s ey gen?

‘When a force of 10 N acts on a body of mass of 10 kg that is able to move freely, which of
the following statements will apply?

Ans (1_

Question ID : 9864494990
Status : Answered
Chosen Option : 2




B 1 ms—? & =TT @V?\l/gvgﬁg[ﬁvtjobsalert.m

The body moves with an acceleration of 1 ms™2

2 T 1m/s & T § AT HEM
The body moves with a speed of 1 m/s

31'-;'|m1km/s Fr FGrer T AT HLEMI

<
The body moves with a speed of 1 km/s
X4
s 10 ms™2 & T F AT FHLEM

The body moves with an acceleration of 10 ms™*

Q.68 fiaige #r FAET g swH T FEw REwr F ooy F A g F w9
FH ¥l 3 W Hog 99 a1, FEET $1 g e & g dr 150% e
RigR #r A ag (6t #) R &2

Priyankur’s present age is seven years less than thrice the age of his cousin Rihana.
Sixteen years from now Priyakur’s age will be 150% of that of Rihana. What is
Priyankur’s present age (in years)?

ans X120
X217
v 23
X426

Question ID : 9864494582
Status : Not Answered
Chosen Option : --

Q.69 v% 99 & F 4 TT H 5T I §, Teg UF WA F FHOT, &F 5 @ F 77
ST ¥1 8 gC & @ @ren e A Rwe @ e we aeeme

A pump can fill a tank in 4 hours, but due to a leak, the tank now gets filled in 5 hours.
How long will it take the leakage to empty the tank when it is full?

Ans hd
X1 20 Oe
20 hours

X2 45 T
4.5 hours
L
0 hours
X4 1 9T

1 hour

Question ID : 9864494862
Status : Not Answered
Chosen Option : --

Q.70mmﬂaﬁr§éwaﬁaﬁ@m§é%ﬁmaﬁr&uﬂzsmﬁl
T FEAT F TS (crests) F AT 25 ms! ¥ | A9 F ot Fr 3glea |
]

A boat at anchor is rocked by waves whose consecutive crests are 125 m apart. The
velocity of the wave of the moving crests is 25 ms~*. What is the frequency of the rocking
of the boat?

Ans X 1. 250 g&=t (Hz)
X 2. 625 g2=T (Hz)
V'3 0208 (Hz)
X 4100 g&=T (Hz)

Question ID : 9864494674
Status : Not Answered
Chosen Option : --

QMM s s X St Yy z¥shwR A YFRarSraad G w
#rar X Fr 2l

If Mr. X has two sisters, Y and Z, and W’s mother is the sister of Y’s father, then W’s
mother is X’s

Question ID : 9864493988
Status : Not Answered
Chosen Option : --




